

$$g_i(x) = \log p(x | w_i) + \log P(w_i)$$

$$\text{eq 23} \quad p(x) = \frac{1}{(2\pi)^{d/2} |\Sigma|^{1/2}} \exp\left(-\frac{1}{2}(x-\mu)^T \Sigma^{-1}(x-\mu)\right)$$

$$p(x | w_i) \approx \mathcal{N}(\mu_i, \Sigma_i)$$

$$g_i(x) = \cancel{\log p(x | w_i)} - \frac{1}{2}(x-\mu_i)^T \Sigma_i^{-1}(x-\mu_i) - \frac{d}{2} \log(2\pi) \\ - \frac{1}{2} \log |\Sigma_i| + \log P(w_i) \quad \text{eq 31}$$

$$\text{If } \Sigma_i = \sigma_i^2 \mathbf{I} \quad \cancel{\text{If}} \quad |\Sigma_i| = \sigma_i^{2d} \\ \Sigma_i^{-1} = \frac{1}{\sigma_i^2} \mathbf{I}$$

$$g_i(x) = -\frac{1}{2\sigma_i^2} \|x - \mu_i\|^2 + \log P(w_i) \quad \text{eq 32}$$

Assign  $x$  to the category of nearest mean.

min-distance classifier

template-matching classifier

$$g_i(x) = -\frac{1}{2\sigma^2} (x^T x - x^T \mu_i - \mu_i^T x + \mu_i^T \mu_i) + \log P(\omega_i)$$

$$= -\frac{1}{2\sigma^2} (x^T x - 2\mu_i^T x + \mu_i^T \mu_i) + \log P(\omega_i)$$

same  $\forall i$

$$g_i(x) = -\frac{x^T x}{2\sigma^2} + \frac{1}{\sigma^2} \mu_i^T x + \frac{\mu_i^T \mu_i}{2\sigma^2} + \log P(\omega_i)$$

$$\tilde{g}_i(x) = \omega_i^T x + \omega_{i0} \quad \text{eq 34}$$

$$\omega_i = \frac{1}{\sigma^2} \mu_i \quad \omega_{i0} = \frac{\mu_i^T \mu_i}{2\sigma^2} + \log P(\omega_i) \quad \text{eq 36.}$$

$$\tilde{g}_i(x) = g_i(x)$$

$$\omega_i^T x + \omega_{i0} = \omega_j^T x + \omega_{j0}$$

$$\cancel{(\omega_i - \omega_j)^T x} \quad (\omega_i - \omega_j)^T x + \omega_{i0} - \omega_{j0} = 0. \quad *$$

$$(\omega_i - \omega_j)^T \int x + \frac{(\omega_{i0} - \omega_{j0})(\omega_i - \omega_j)}{\|\omega_i - \omega_j\|^2} \int = 0$$

since

$$\Rightarrow \omega_i - \omega_j = \frac{1}{\sigma^2} (\mu_i - \mu_j)$$

From eq \*

$$\begin{aligned} & \beta (w_i - w_j)^T x + \frac{\mu_i^T \mu_i}{2\beta^2} - \frac{\mu_j^T \mu_j}{2\beta^2} + \log P(w_i) - \log P(w_j) \\ & = 0. \end{aligned}$$

Now  $w_i - w_j = \frac{1}{\beta^2} (\mu_i - \mu_j)$

$$\frac{1}{\beta^2} (\mu_i - \mu_j)^T x + \frac{1}{2\beta^2} (\mu_i^T \mu_i - \mu_j^T \mu_j) + \log \left( \frac{P_i}{P_j} \right) = 0.$$

$$+ \frac{(\mu_i - \mu_j)^T (\mu_i + \mu_j)}{2\beta^2} + \dots = 0$$

~~$$(\mu_i - \mu_j)^T \left[ x + \frac{1}{2} (\mu_i + \mu_j) + \frac{1}{\beta^2} \log \left( \frac{P_i}{P_j} \right) \right] = 0$$~~

$$(\mu_i - \mu_j)^T x + \frac{1}{2} (\mu_i - \mu_j)^T (\mu_i + \mu_j) + \beta^2 \log \left( \frac{P_i}{P_j} \right) = 0$$

$$\Rightarrow (\mu_i - \mu_j)^T \left[ x + \frac{\mu_i + \mu_j}{2} + \frac{\beta^2}{\|\mu_i - \mu_j\|^2} \log \left( \frac{P_i}{P_j} \right) (\mu_i - \mu_j) \right] = 0$$

$$w^T (x - x_0) = 0$$

$$\text{w/ } \Rightarrow w = \dots \quad \& \quad x_0 = - \frac{(\mu_i + \mu_j)}{2} - \frac{\beta^2}{\|\mu_i - \mu_j\|^2} \log \left( \frac{P_i}{P_j} \right) (\mu_i - \mu_j)$$

$$\textcircled{1} \quad p(x|w_i) = \frac{1}{\pi b} \frac{1}{1 + \left(\frac{x-a_i}{b}\right)^2} \quad i=1, 2$$

$$P(w_1) = P(w_2)$$

$$\text{Then } P(w_1|x) = ? \quad + \quad P(w_2|x) = ?$$

By Bayes rule

$$P(w_1|x) = \frac{p(x|w_1)P(w_1)}{\sum_{j=1}^2 p(x|w_j)P(w_j)} = \frac{p(x|w_1)P(w_1)}{p(x|w_1) + p(x|w_2)} \neq \frac{P(w_1)}{P(w_1) + P(w_2)}$$

$$\text{Simil } P(w_2|x) = \frac{p(x|w_2)P(w_2)}{p(x|w_1) + p(x|w_2)}$$

$$\text{So } P(w_1|x) = P(w_2|x) \quad \text{iff}$$

$$p(x|w_1) = p(x|w_2)$$

||

$$\frac{1}{\pi b} \frac{1}{1 + \left(\frac{x-a_1}{b}\right)^2} = \frac{1}{\pi b} \frac{1}{1 + \left(\frac{x-a_2}{b}\right)^2}$$

$$\left(\frac{x-a_1}{b}\right)^2 = \left(\frac{x-a_2}{b}\right)^2$$

$$\Rightarrow \left| \frac{x-a_1}{b} \right| = \left| \frac{x-a_2}{b} \right| = \begin{cases} \text{or} & \frac{x-a_1}{b} = \frac{x-a_2}{b} \quad \text{no solution exists} \\ & \frac{x-a_1}{b} = -\left(\frac{x-a_2}{b}\right) \Rightarrow 2x = a_1 + a_2 \\ & \Rightarrow x = \frac{a_1 + a_2}{2} \end{cases}$$

$$a_1 = 3, a_2 = 5, b = 1.$$

~~Assuming~~ Assuming  $P(\omega_1) = P(\omega_2)$

$$P(\omega_1 | x) = \frac{p(x|\omega_1) P(\omega_1)}{p(x|\omega_1) + p(x|\omega_2)} = \frac{\frac{1}{1 + \left(\frac{x-3}{1}\right)^2}}{\frac{1}{1 + \left(\frac{x-3}{1}\right)^2} + \frac{1}{1 + \left(\frac{x-5}{1}\right)^2}}$$

$$= \frac{1}{1 + \frac{1 + (x-3)^2}{1 + (x-5)^2}}$$

$$= \frac{1 + (x-5)^2}{1 + (x-5)^2 + 1 + (x-3)^2} = \frac{1 + (x-5)^2}{2 + (x-5)^2 + (x-3)^2}$$

(2)

$$P(\text{error}) = ?$$

$$= \int_{-\infty}^{+\infty} P(\text{error}|x) p(x) dx$$

$$\text{w/ } P(\text{error}|x) = \begin{cases} P(\omega_1|x) & \text{we decide } \omega_2 \\ P(\omega_2|x) & \text{we decide } \omega_1. \end{cases}$$

$$= \begin{cases} \frac{p(x|\omega_1) P(\omega_1)}{p(x)} \\ \frac{p(x|\omega_2) P(\omega_2)}{p(x)} \end{cases}$$

$$\therefore P(\text{error}) = P(\omega) \int_{-\infty}^L p(x|\omega_1) dx + P(\omega) \int_L^{+\infty} p(x|\omega_2) dx$$

$$\frac{dP(\text{error})}{dL} = P(\omega) \left\{ p(L|\omega_1) - p(L|\omega_2) \right\} = 0$$

$$\Rightarrow p(L|\omega_1) = p(L|\omega_2)$$

$$\frac{1}{\pi b} \frac{1}{1 + \left(\frac{x-a}{b}\right)^2} = \frac{1}{\pi b} \frac{1}{\quad} \quad ? \text{ what's wrong?}$$

③ By p3 B

$$P(\text{error}) = \int_{-\infty}^{+\infty} P(\text{error} | x) \cdot dx$$

$$= \int_{-\infty}^{+\infty} P(\text{error} | x) p(x) dx$$

$$\omega \quad P(\text{error} | x) = \begin{cases} P(\omega_1 | x) & \text{if we decide } \omega_2 \\ P(\omega_2 | x) & \text{if we decide } \omega_1. \end{cases}$$

⇒ ~~P(error)~~ decide  $\omega_1$  if  $x > \theta$

$$P(\text{error}) = \int_{-\infty}^{\theta} P(\omega_2 | x) p(x) dx + \int_{\theta}^{+\infty} P(\omega_1 | x) p(x) dx$$

$$= \int_{-\infty}^{\theta} \frac{P(x | \omega_2) P(\omega_2)}{p(x)} \cdot p(x) dx + \int_{\theta}^{+\infty} \frac{P(x | \omega_1) P(\omega_1)}{p(x)} \cdot p(x) dx$$

= ...

$$\frac{dP(\text{error}, \theta)}{d\theta} = P(\omega_2) p(\theta | \omega_2) - P(\omega_1) p(\theta | \omega_1) \dots$$

Is  $\theta$  unique?

④ ~~As a result~~  
~~the probability~~

$$\sum_{i=1}^c P(w_i | x) = 1$$

$$1 = \sum_{i=1}^c P(w_i | x) \leq P(w_{\max} | x) \cdot c \quad \rightarrow \quad P(w_{\max} | x) \geq 1/c$$

Minimum error rate decision rule

$$P(\text{error} | x) = \sum_{j=1}^c \min_{i \neq j} P(w_i | x) P(w_j | x)$$

$$= \sum_{j=1}^c P(w_j | x)$$

~~the~~ ~~probability~~ ~~of~~ ~~error~~

~~the~~

$$P(\text{error}) = \sum_{i \neq j} P(x \in R_i | w_j) = \sum_{i \neq j} P(x \in R_i | w_j) P(w_j)$$

?



Q

$$\text{If } P(\omega_{\max} | x) \geq \gamma_c$$

$$P(\text{error}) \leq 1 - \gamma_c = \frac{c-1}{c}$$

When would  $P(\text{error}) = \frac{c-1}{c} = 1 - \frac{1}{c}$  ?

Uniform distribution + c disjoint partitions of equal size.

⑤ By Cauchy's inequality:

$$(a+b)^2 \geq 0$$

$$a^2 + 2ab + b^2 \geq 0$$

$$\frac{a^2 + b^2}{2} \geq ab$$

$$\therefore \sqrt{ab} \leq \frac{1}{2}(a+b)$$

$$\sqrt{ab} = \sqrt{\min(a,b)^2 \frac{ab}{\min(a,b)^2}}$$

$$= |\min(a,b)| \sqrt{\frac{a}{\min(a,b)} \frac{b}{\min(a,b)}} > |\min(a,b)|$$

know  $a > 0$   $b > 0$   
or  $a < 0$   $b < 0$

$$\frac{a}{\min(a,b)} > 1$$

$$\frac{b}{\min(a,b)} > 1$$

Since we are told that  $a, b \geq 0$

$$\sqrt{ab} > \min(a,b)$$

Don't see how to do next part...